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‘1.3 (a) The observed orbital synodic periods of Venus and Mars are 583.9
+— days and 779.9 days, respectively. Calculate their sidereal peri-
ods.
1 (b) Which planet in the solar system has the shortest synodic period?
+— Why? I
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—Ltls:hthe right asrfension and declination of the Sun when it is located |
3t the vernal equinox, the summer solstice, the autumnal ui E
the winter solstice. Paunen, and By
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day of summer for an observer at a latitude of 4 north.

| (b) What is the maximum altitude of the Sun on the first day of
S winter at the same latitude? -

j—— 1.5 (a) Calculate the altitude of the Sun along the meridian on the first
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Candidate HW questions for week 1: v

Astrophysics (Carroll and Ostlie)
Ch.1: Problems1,3,4,5,6

Astronomy (Freedman & Kaufmann)

Ch.l: Review: 5,11, 12, 15; Advanced: 18, 20, 22, 26, 27, 28, 30, 33
——— Observing: 42,43 (Teams 1, 2)

Ch2: Review: 6- 8, 10- 14, 16, 17, 20, 22;

e b
Advanced: 23, 29, 32, 34, 37, 38
R S Observing: 54, 56, 57 (Teams 3, 4, 5)
5 Mathematical Methods in the Physical Sciences (Boas)

Ch.5, Section 4, Problems 1 (a, d), 2(a), 4(a, b), 24, 25

Freedman and Kaufmann #1.30: The average dista%oe to the Moon is 384,000
" km, and the Moon subtends an angle of 1/2°. Use this information to 7y
\ calculate the dialéleter of the Moon in km.
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— 20. The Sun's mass is 1.99 x 10 kg, threa-quaress of

: which is hydrogen, The mass of a lydrogen atom i /7,
- 1.67 % 10" kg. How many bydrogen atoms does the Sun

~ contain? Use powers-of-ren notation. A/ .
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—L — 22, Fiorw many Suns would it take, laid side by side, o 21, The diameter of the Sun is 1.4 % 10V cm, and the

‘ reach the npearest scar? Use powers-of-ten AOLADON. | Hine. distance to the nearest stax, Prooama Centauri, is 4.2 by, = d
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*32. A person with good vision can dee details thar subtend e
am angle of as small as 1 areminute! If rwy dark lines on an 55 (rad ) J D
eyt chart are 2 millimeterdapare, how farckan such & -4\\4“\
person be from rhe chart and still be able s rell thar there

_are two distinet lines? Give your answer in meters,
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ﬁmweof(;f;;{:\ m Easth. The diameter of Venus is ga{y\p D »_-,LJ o ‘19’\ & |

D= 12104 k. What was the angular size’af Venus as scen
. broen Earth on December 11, 20007 Give your snswer
in arcminures,
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